

Published Online: August 11, 2009

This paper is available online at http://www.pphmj.com

© 2009 Pushpa Publishing House

DIAMOND OPERATOR RELATED TO **BIHARMONIC EQUATION**

WANCHAK SATSANIT and AMNUAY KANANTHAI

Department of Mathematics Chiangmai University Chiangmai, 50200, Thailand

e-mail: malamnka@science.cmu.ac.th

Abstract

In this paper, we study the generalized wave equation of the form

$$\frac{\partial^2}{\partial t^2}u(x,t) - c^2(\lozenge)^k u(x,t) = 0$$

with the initial conditions

$$u(x, 0) = f(x)$$
 and $\frac{\partial}{\partial t}u(x, 0) = g(x)$,

where $u(x, t) \in \mathbb{R}^n \times [0, \infty)$, \mathbb{R}^n is the *n*-dimensional Euclidean space, \Diamond^k is the Diamond operator iterated k-times defined by

$$\Diamond^k = \left[\left(\sum_{i=1}^p \frac{\partial^2}{\partial x_i^2} \right)^2 - \left(\sum_{j=p+1}^{p+q} \frac{\partial^2}{\partial x_j^2} \right)^2 \right]^k,$$

 \Diamond can be written as the product of the operators in the form $\Diamond = \Delta \Box$

=
$$\Box \Delta$$
, where $\Delta = \sum_{i=1}^{n} \frac{\partial^2}{\partial x_i^2}$ is the Laplacian and $\Box = \sum_{i=1}^{p} \frac{\partial^2}{\partial x_i^2} - \sum_{j=p+1}^{p+q} \frac{\partial^2}{\partial x_j^2}$

2000 Mathematics Subject Classification: 35L75.

Keywords and phrases: biharmonic wave equation, Diamond operator, tempered distribution.

Received March 27, 2009

is the ultra-hyperbolic. p+q=n, c is a positive constant, k is a nonnegative integer, f and g are continuous and absolutely integrable functions. We obtain u(x,t) as a solution for such equation. Moreover, by ε -approximation we also obtain the asymptotic solution $u(x,t)=O(\varepsilon^{-n/2k})$. In particularly, if we put $n=1,\ k=2$ and p=0, then the u(x,t) reduces to the solution of the biharmonic wave equation

$$\frac{\partial^2}{\partial t^2}u(x, t) + c^2(\Delta)^4u(x, t) = 0.$$

1. Introduction

It is well known that for 1-dimensional wave equation

$$\frac{\partial^2}{\partial t^2} u(x, t) = c^2 \frac{\partial^2}{\partial x^2} u(x, t), \tag{1.1}$$

we obtain u(x, t) = f(x + ct) + g(x - ct) as a solution of the equation, where f and g are continuous.

Also for *n*-dimensional wave equation

$$\frac{\partial^2}{\partial t^2}u(x,t) + c^2\Delta u(x,t) = 0,$$
(1.2)

with the initial conditions

$$u(x, 0) = f(x)$$
 and $\frac{\partial}{\partial t}u(x, 0) = g(x)$,

where f and g are continuous functions. By solving the Cauchy problem for such equation, the Fourier transform has been applied and the solution is given by

$$\hat{u}(\xi, t) = \hat{f}(\xi)\cos(2\pi |\xi|)t + \hat{g}(\xi)\frac{\sin(2\pi |\xi|)t}{2\pi |\xi|},$$

where
$$r^2 = \xi_1^2 + \xi_2^2 + \dots + \xi_p^2$$
, $s^2 = \xi_{p+1}^2 + \xi_{p+2}^2 + \dots + \xi_{p+q}^2$ (see [1, p. 177]).

By using the inverse Fourier transform, we obtain u(x, t) in the convolution form, that is,

$$u(x, t) = f(x) * \Psi_t(x) + g(x) * \Phi_t(x), \tag{1.3}$$

where Φ_t is an inverse Fourier transform of $\hat{\Phi}_t(\xi) = \frac{\sin(2\pi|\xi|)t}{2\pi|\xi|}$ and Ψ_t is an

inverse Fourier transform of $\hat{\Psi}_t(\xi) = \cos(2\pi |\xi|)t = \frac{\partial}{\partial t} \hat{\Phi}(\xi)$.

In 1997, Kananthai [2] introduced the *Diamond operator* ◊ defined by

$$\Diamond = \left(\sum_{i=1}^{p} \frac{\partial^{2}}{\partial x_{i}^{2}}\right)^{2} - \left(\sum_{j=p+1}^{p+q} \frac{\partial^{2}}{\partial x_{j}^{2}}\right)^{2}, \quad p+q=n$$

or \Diamond can be written as the product of the operators in the form $\Diamond = \Delta \Box = \Box \Delta$, where

$$\Delta = \sum_{i=1}^{n} \frac{\partial^{2}}{\partial x_{i}^{2}} \text{ is the Laplacian and } \square = \sum_{i=1}^{p} \frac{\partial^{2}}{\partial x_{i}^{2}} - \sum_{j=p+1}^{p+q} \frac{\partial^{2}}{\partial x_{j}^{2}} \text{ is the ultra-hyperbolic.}$$

The Fourier transform of the Diamond operator has also been studied and the elementary solution of such operator, see [3]. Next, Sritantatana and Kananthai studied the equation

$$\frac{\partial^2}{\partial t^2}u(x,t) + c^2(-\Delta)^k u(x,t) = 0$$

see [7, pp. 23-29], where

$$\Delta^{k} = \left(\frac{\partial^{2}}{\partial x_{1}^{2}} + \frac{\partial^{2}}{\partial x_{2}^{2}} + \dots + \frac{\partial^{2}}{\partial x_{p}^{2}} + \frac{\partial^{2}}{\partial x_{p+1}^{2}} + \frac{\partial^{2}}{\partial x_{p+2}^{2}} + \dots + \frac{\partial^{2}}{\partial x_{p+q}^{2}}\right)^{k}.$$

Next, Satsanit and Kananthai studied the equation

$$\frac{\partial^2}{\partial t^2}u(x,t) + c^2(\Box)^k u(x,t) = 0$$

see [6], where

$$\Box^{k} = \left(\frac{\partial^{2}}{\partial x_{1}^{2}} + \frac{\partial^{2}}{\partial x_{2}^{2}} + \dots + \frac{\partial^{2}}{\partial x_{p}^{2}} - \frac{\partial^{2}}{\partial x_{p+1}^{2}} - \frac{\partial^{2}}{\partial x_{p+2}^{2}} - \dots - \frac{\partial^{2}}{\partial x_{p+q}^{2}}\right)^{k},$$

we obtain the solution related to the beam equation.

In this paper, we study the equation

$$\frac{\partial^2}{\partial t^2} u(x, t) + c^2(\lozenge)^k u(x, t) = 0 \tag{1.4}$$

with u(x, 0) = f(x) and $\frac{\partial}{\partial t}u(x, 0) = g(x)$, where c is a positive constant, k is a nonnegative integer, f and g are continuous functions and absolutely integrable. Equation (1.4) is motivated by the heat equation of the form

$$\frac{\partial}{\partial t}u(x,t) = -c^2(\lozenge)^k u(x,t)$$

(see [4, 1-4]). We obtain

$$u(x, t) = f(x) * \Psi_t(x) + g(x) * \Phi_t(x)$$
 (1.5)

as a solution of (1.4), where Φ_t is an inverse Fourier transform of $\hat{\Phi}_t(\xi)$ = $\frac{\sin c(\sqrt{s^4-r^4})^k t}{c(\sqrt{s^4-r^4})^k}$ and Ψ_t is an inverse Fourier transform of $\hat{\Psi}_t(\xi)$ = $\cos c(\sqrt{s^4-r^4})^k t = \frac{\partial}{\partial t} \hat{\Phi}_t(\xi)$, where $r^2 = \xi_1^2 + \xi_2^2 + \dots + \xi_p^2$ and $s^2 = \xi_{p+1}^2 + \xi_{p+2}^2 + \dots + \xi_{p+q}^2$. Moreover, if we put k=2 and k=0 in (1.4), then (1.5) reduces to the solution of the k=0-dimensional biharmonic wave equation and also if k=1, k=1 and k=0 in (1.4), then (1.5) reduces to the solution of beam equation.

We also study the asymptotic form of u(x, t) in (1.5) by using ε -approximation and obtain $u(x, t) = O(\varepsilon^{-n/2k})$.

2. Preliminaries

We shall need the following definitions:

Definition 2.1. Let $f \in L_1(\mathbb{R}^n)$ be the space of integrable function in \mathbb{R}^n . The *Fourier transform* of f(x) is defined by

$$\hat{f}(\xi) = \frac{1}{(2\pi)^{n/2}} \int_{\mathbb{R}^n} e^{-i(\xi, x)} f(x) dx, \tag{2.1}$$

where $\xi = (\xi_1, \, \xi_2, \, ..., \, \xi_n), \, x = (x_1, \, x_2, \, ..., \, x_n) \in \mathbb{R}^n, \, (\xi, \, x) = \xi_1 x_1 + \xi_2 x_2 + \cdots + \xi_n x_n$ is the inner product in \mathbb{R}^n and $dx = dx_1 dx_2 \cdots dx_n$.

Also, the inverse of Fourier transform is defined by

$$f(\xi) = \frac{1}{(2\pi)^{n/2}} \int_{\mathbb{R}^n} e^{i(\xi, x)} \hat{f}(x) dx.$$
 (2.2)

Lemma 2.1. Given the function

$$f(x) = \exp \left[-\sqrt{-\left(\sum_{i=1}^{p} x_i^2\right)^2 + \left(\sum_{j=p+1}^{p+q} x_j^2\right)^2} \right],$$

where $(x_1, x_2, ..., x_n) \in \mathbb{R}^n$, p + q = n, $\sum_{i=1}^p x_i^2 < \sum_{j=p+1}^{p+q} x_j^2$. Then

$$\left| \int_{\mathbb{R}^n} f(x) dx \right| \leq \frac{\Omega_p \Omega_q}{8} \cdot \frac{\Gamma\left(\frac{n}{2}\right) \Gamma\left(\frac{p}{4}\right) \Gamma\left(\frac{4-n}{4}\right)}{\Gamma\left(\frac{4-q}{4}\right)},$$

where Γ denotes the Gamma function. That is, $\int_{\mathbb{R}^n} f(x)dx$ is bounded.

Proof. First note that

$$\int_{\mathbb{R}^{n}} f(x) dx = \int_{\mathbb{R}^{n}} \exp \left[-\sqrt{-\left(\sum_{i=1}^{p} x_{i}^{2}\right)^{2} + \left(\sum_{j=p+1}^{p+q} x_{j}^{2}\right)^{2}} \right] dx.$$

Now, we transform to bipolar coordinates defined by

$$x_1=r\omega_1, \quad x_2=r\omega_2, ..., \quad x_p=r\omega_p,$$

$$dx_1=rd\omega_1, \quad dx_2=rd\omega_2, ..., \quad dx_p=rd\omega_p$$

and

$$\begin{split} x_{p+1} &= s\omega_{p+1}, \quad x_{p+2} = s\omega_{p+2}, ..., \quad x_{p+q} = s\omega_{p+q}, \\ dx_{p+1} &= sd\omega_{p+1}, \quad dx_{p+2} = sd\omega_{p+2}, ..., \quad dx_{p+q} = sd\omega_{p+q}, \end{split}$$

where $\omega_1^2 + \omega_2^2 + \dots + \omega_p^2 = 1$ and $\omega_{p+1}^2 + \omega_{p+2}^2 + \dots + \omega_{p+q}^2 = 1$. Thus $\int_{\mathbb{R}^n} f(x) dx = \int_{\mathbb{R}^n} \exp[-\sqrt{s^4 - r^4}] r^{p-1} s^{q-1} dr ds d\Omega_p d\Omega_q,$

where $dx = r^{p-1}s^{q-1}drdsd\Omega_p d\Omega_q$, $d\Omega_p$ and $d\Omega_q$ are the elements of surface area on the unit sphere in \mathbb{R}^p and \mathbb{R}^q , respectively.

$$\left| \int_{\mathbb{R}^n} f(x) dx \right| \le \int_{\mathbb{R}^n} \exp\left[-\sqrt{s^4 - r^4}\right] r^{p-1} s^{q-1} dr ds d\Omega_p d\Omega_q.$$

By a direct computation, we obtain

$$\int_{\mathbb{R}^n} f(x) dx = \Omega_p \Omega_q \int_0^\infty \int_0^s \exp\left[-\sqrt{s^4 - r^4}\right] r^{p-1} s^{q-1} dr ds,$$

where
$$\Omega_p=\frac{2\pi^{p/2}}{\Gamma(p/2)}$$
 and $\Omega_q=\frac{2\pi^{q/2}}{\Gamma(q/2)}.$ Thus

$$\left| \int_{\mathbb{R}^n} f(x) dx \right| \le \Omega_p \Omega_q \int_0^\infty \int_0^s \exp\left[-\sqrt{s^4 - r^4}\right] r^{p-1} s^{q-1} dr ds.$$

Put
$$r^2 = s^2 \sin \theta$$
, $2rdr = s^2 \cos \theta d\theta$ and $0 \le \theta \le \frac{\pi}{2}$, to have

$$\left| \int_{\mathbb{R}^n} f(x) dx \right| \le \Omega_p \Omega_q \int_0^\infty \int_0^s e^{-\sqrt{s^4 - s^4 \sin^2 \theta}} s^{p-2} (\sin \theta)^{\frac{p-2}{2}} s^{q+1} \cos \theta d\theta ds$$

$$= \frac{\Omega_p \Omega_q}{2} \int_0^\infty \int_0^s e^{-s^2 \cos \theta} s^{p+q-1} (\sin \theta)^{\frac{p-2}{2}} \cos \theta d\theta ds.$$

Put
$$y = s^2 \cos \theta$$
, $ds = \frac{dy}{2s \cos \theta}$, to have

$$\left| \int_{\mathbb{R}^n} f(x) dx \right| \le \frac{\Omega_p \Omega_q}{4} \int_0^{\pi/2} \int_0^{\infty} e^{-y} \left(\frac{y}{\cos \theta} \right)^{\frac{n-2}{2}} (\sin \theta)^{\frac{p-2}{2}} \cos \theta d\theta \frac{dy}{\cos \theta}$$

$$= \frac{\Omega_p \Omega_q}{4} \int_0^{\pi/2} \int_0^{\infty} e^{-y} y^{\frac{n-2}{2}} (\cos \theta)^{\frac{2-n}{2}} (\sin \theta)^{\frac{p-2}{2}} dy d\theta$$

$$= \frac{\Omega_p \Omega_q}{4} \Gamma\left(\frac{n}{2}\right) \int_0^{\pi/2} (\cos \theta)^{\frac{2-n}{2}} (\sin \theta)^{\frac{p-2}{2}} d\theta$$

$$= \frac{\Omega_p \Omega_q}{8} \Gamma\left(\frac{n}{2}\right) \beta\left(\frac{p}{4}, \frac{4-n}{4}\right),$$

$$\left| \int_{\mathbb{R}^n} f(x) dx \right| \leq \frac{\Omega_p \Omega_q}{8} \frac{\Gamma\left(\frac{n}{2}\right) \Gamma\left(\frac{p}{4}\right) \Gamma\left(\frac{4-n}{4}\right)}{\Gamma\left(\frac{4-q}{4}\right)}.$$

Thus it follows that $\int_{\mathbb{R}^n} f(x) dx$ is bounded.

3. Main Results

Theorem 3.1. Given the equation

$$\frac{\partial^2}{\partial t^2} u(x, t) + c^2(\lozenge)^k u(x, t) = 0 \tag{3.1}$$

with initial conditions

$$u(x, 0) = f(x)$$
 and $\frac{\partial}{\partial t}u(x, 0) = g(x),$ (3.2)

where $u(x, t) \in \mathbb{R}^n \times [0, \infty)$, \diamond^k is the Diamond operator iterated k-times, c is a positive constant, k is a nonnegative integer, f and g are continuous functions and absolutely integrable for $x \in \mathbb{R}^n$. Then (3.1) has a unique solution

$$u(x, t) = f(x) * \Psi_t(x) + g(x) * \Phi_t(x)$$
(3.3)

and satisfies the condition (3.2), where Φ_t is the inverse Fourier transform of

$$\hat{\Phi}_t(\xi) = \frac{\sin c(\sqrt{s^4 - r^4})^k t}{c(\sqrt{s^4 - r^4})^k}$$

and Ψ_t is the inverse Fourier transform of

$$\hat{\Psi}_t(\xi) = \cos c(\sqrt{s^4 - r^4})^k t = \frac{\partial}{\partial t} \hat{\Phi}(\xi),$$

with
$$r^2 = \xi_1^2 + \xi_2^2 + \dots + \xi_p^2$$
 and $s^2 = \xi_{p+1}^2 + \xi_{p+2}^2 + \dots + \xi_{p+q}^2$.

Proof. By applying the Fourier transform defined by (2.1) to (3.1), we obtain

$$\frac{\partial^2}{\partial t^2}\hat{u}(\xi,t) + c^2 \left(-\left(\sum_{i=1}^p \xi_i^2\right)^2 + \left(\sum_{j=p+1}^{p+q} \xi_j^2\right)^2 \right)^k \hat{u}(\xi,t) = 0.$$

Let s > r. Thus

$$\frac{\partial^{2}}{\partial t^{2}} \hat{u}(\xi, t) + c^{2}(s^{4} - r^{4})^{k} \hat{u}(\xi, t) = 0,$$

$$\hat{u}(\xi, t) = A(\xi)\cos c(\sqrt{s^{4} - r^{4}})^{k} t + B(\xi)\sin c(\sqrt{s^{4} - r^{4}})^{k} t.$$
By (3.2), $\hat{u}(\xi, 0) = A(\xi) = \hat{f}(\xi),$

$$\frac{\partial \hat{u}(\xi, t)}{\partial t} = -c(\sqrt{s^{4} - r^{4}})^{k} A(\xi)\sin c(\sqrt{s^{4} - r^{4}})^{k} t$$

$$+ c(\sqrt{s^{4} - r^{4}})^{k} B(\xi)\cos c(\sqrt{s^{4} - r^{4}})^{k} t,$$

$$\frac{\partial \hat{u}(\xi, 0)}{\partial t} = 0 + c(\sqrt{s^{4} - r^{4}})^{k} B(\xi) = \hat{g}(\xi),$$

$$B(\xi) = \frac{\hat{g}(\xi)}{c(\sqrt{s^{4} - r^{4}})^{k}},$$

$$\hat{u}(\xi, t) = \hat{f}(\xi)\cos c(\sqrt{s^{4} - r^{4}})^{k} t + \frac{\hat{g}(\xi)}{c(\sqrt{s^{4} - r^{4}})^{k}}\sin c(\sqrt{s^{4} - r^{4}})^{k} t. \tag{3.4}$$

By applying the inverse Fourier transform (3.4), we obtain the solution u(x, t) in the convolution form of (3.1). Now, we need to show the existence of $\Phi_t(x)$ and $\Psi_t(x)$.

Consider the Fourier transforms

$$\widehat{\Phi_t}(x) = \frac{\sin c (\sqrt{s^4 - r^4})^k t}{c (\sqrt{s^4 - r^4})^k} \text{ and } \Psi_t(x) = \cos c (\sqrt{s^4 - r^4})^k t.$$

These are all tempered distributions not lying in the space $L_1(\mathbb{R}^n)$ of integrable functions. So we cannot compute the inverse Fourier transforms $\Phi_t(x)$ and $\Psi_t(x)$ directly. Thus we compute the inverse $\Phi_t(x)$ and $\Psi_t(x)$ by using the method of ε -approximation.

Define

$$\widehat{\phi_t^{\varepsilon}}(\xi) = e^{-\varepsilon c(\sqrt{s^4 - r^4})^k} \widehat{\phi_t}(\xi) = e^{-\varepsilon c(\sqrt{s^4 - r^4})^k} \frac{\sin c(\sqrt{s^4 - r^4})^k t}{c(\sqrt{s^4 - r^4})^k} \text{ for } \varepsilon > 0. \quad (3.5)$$

We see that $\phi_t^{\varepsilon}(x) \in L_1(\mathbb{R}^n)$ and $\widehat{\phi_t^{\varepsilon}}(x) \to \widehat{\phi_t}(x)$ uniformly as $\varepsilon \to 0$. So that $\phi_t(x)$ will be limit in the topology of tempered distribution of $\phi_t^{\varepsilon}(x)$. Now

$$\Phi_{t}^{\varepsilon}(x) = \frac{1}{(2\pi)^{n/2}} \int_{\mathbb{R}^{n}} e^{i(\xi, x)} \widehat{\Phi_{t}^{\varepsilon}}(\xi) d\xi
= \frac{1}{(2\pi)^{n/2}} \int_{\mathbb{R}^{n}} e^{i(\xi, x)} e^{-\varepsilon c(\sqrt{s^{4} - r^{4}})^{k}} \frac{\sin c(\sqrt{s^{4} - r^{4}})^{k} t}{c(\sqrt{s^{4} - r^{4}})^{k}} d\xi,
|\Phi_{t}^{\varepsilon}(x)| \leq \frac{1}{(2\pi)^{n/2}} \int_{\mathbb{R}^{n}} \frac{e^{-\varepsilon c(\sqrt{s^{4} - r^{4}})^{k}}}{c(\sqrt{s^{4} - r^{4}})^{k}} d\xi.$$
(3.6)

By changing to bipolar coordinates and putting

$$\xi_1 = rw_1, \quad \xi_2 = rw_2, ..., \quad \xi_p = rw_p$$

and

$$\xi_{p+1} = sw_{p+1}, \quad \xi_{p+2} = sw_{p+2}, ..., \quad \xi_p = sw_{p+q}, \quad p+q=n,$$

where

$$w_1^2 + w_2^2 + \dots + w_p^2 = 1$$
 and $w_{p+1}^2 + w_{p+2}^2 + \dots + w_{p+q}^2 = 1$,

we obtain

$$\mid \Phi_t^{\varepsilon}(x) \mid \leq \frac{1}{(2\pi)^{n/2}} \int_{\mathbb{R}^n} \frac{e^{-\varepsilon c(\sqrt{s^4 - r^4})^k}}{c(\sqrt{s^4 - r^4})^k} r^{p-1} s^{q-1} dr ds d\Omega_p d\Omega_q,$$

where $d\xi=r^{p-1}s^{q-1}drdsd\Omega_p d\Omega_q$, $d\Omega_p$ and $d\Omega_q$ are the elements of surface area of the unit spheres in \mathbb{R}^p and \mathbb{R}^q , respectively, with $\Omega_p=\frac{(2\pi)^{p/2}}{\Gamma(p/2)}$, $\Omega_q=\frac{(2\pi)^{q/2}}{\Gamma(q/2)}$. Now,

$$|\Phi_t^{\varepsilon}(x)| \leq \frac{\Omega_p \Omega_q}{(2\pi)^{n/2}} \int_0^{\infty} \int_0^s \frac{e^{-\varepsilon c(\sqrt{s^4 - r^4})^k}}{c(\sqrt{s^4 - r^4})^k} r^{p-1} s^{q-1} dr ds.$$

Putting $r^2 = s^2 \sin \theta$, $2rdr = s^2 \cos \theta d\theta$ and $0 \le \theta \le \frac{\pi}{2}$, we get

$$\begin{split} |\Phi_{t}^{\varepsilon}(x)| &\leq \frac{\Omega_{p}\Omega_{q}}{2(2\pi)^{n/2}} \int_{0}^{\infty} \int_{0}^{\pi/2} \frac{e^{-\varepsilon c(\sqrt{s^{4}-s^{4}\sin^{2}\theta})^{k}}}{c(\sqrt{s^{4}-s^{4}\sin^{2}\theta})^{k}} (\sin\theta)^{\frac{p-2}{2}} s^{p+q-1} \cos\theta d\theta ds \\ &= \frac{\Omega_{p}\Omega_{q}}{2c(2\pi)^{n/2}} \int_{0}^{\infty} \int_{0}^{\pi/2} \frac{e^{-\varepsilon c(s^{2}\cos\theta)^{k}}}{(s^{2}\cos\theta)^{k}} s^{p+q-1} (\sin\theta)^{\frac{p-2}{2}} \cos\theta d\theta ds. \end{split}$$

Putting $y = \varepsilon c(s^2 \cos \theta)^k = \varepsilon c s^{2k} \cos^k \theta$, $s^{2k} = \frac{y}{c\varepsilon \cos^k \theta}$, $ds = \frac{sdy}{2ky}$, it follows that

$$\begin{split} |\Phi_{t}^{\varepsilon}(x)| &\leq \frac{\Omega_{p}\Omega_{q}}{4c(2\pi)^{n/2}} \int_{0}^{\pi/2} \int_{0}^{\infty} \frac{e^{-y}s^{n-1}}{y/(\varepsilon c)} (\sin \theta)^{\frac{p-2}{2}} \cos \theta \frac{s}{ky} dy d\theta \\ &= \frac{\Omega_{p}\Omega_{q}}{4(2\pi)^{n/2}} \int_{0}^{\pi/2} \int_{0}^{\infty} \frac{e^{-y}\varepsilon}{ky^{2}} \left(\frac{y}{c\varepsilon \cos^{k}\theta} \right)^{n/2k} (\sin \theta)^{\frac{p-2}{2}} \cos \theta dy d\theta \\ &= \frac{\Omega_{p}\Omega_{q}}{4(2\pi)^{n/2}} \int_{0}^{\pi/2} \int_{0}^{\infty} \frac{e^{-y}y^{n/2k-2}}{c^{n/2k}k\varepsilon^{n/2k-1}} (\sin \theta)^{\frac{p-2}{2}} (\cos \theta)^{\frac{2-n}{2}} dy d\theta \\ &= \frac{\Omega_{p}\Omega_{q}}{4(2\pi)^{n/2}} \frac{\Gamma\left(\frac{n}{2k}-1\right)}{k\varepsilon^{\frac{n}{2k}-1}c^{n/2k}} \int_{0}^{\pi/2} (\sin \theta)^{\frac{p-2}{2}} (\cos \theta)^{\frac{2-n}{2}} d\theta \\ &= \frac{\Omega_{p}\Omega_{q}}{8c^{n/2k}(2\pi)^{n/2}k\varepsilon^{n/2k-1}} \Gamma\left(\frac{n}{2k}-1\right)\beta\left(\frac{p}{4},\frac{4-n}{4}\right), \\ |\Phi_{t}^{\varepsilon}(x)| &\leq \frac{\Omega_{p}\Omega_{q}}{8c^{n/2k}(2\pi)^{n/2}k\varepsilon^{n/2k-1}} \frac{\Gamma\left(\frac{n}{2k}-1\right)\Gamma\left(\frac{p}{4}\right)\Gamma\left(\frac{4-n}{4}\right)}{\Gamma\left(\frac{4-q}{4}\right)}. \end{split}$$

Similarly, we define $\widehat{\Psi_t^{\varepsilon}}(\xi) = e^{-\varepsilon c(\sqrt{s^4 - r^4})^k} \cos c (\sqrt{s^4 - r^4})^k t$ and

$$\Psi_t^{\varepsilon}(x) = \frac{1}{(2\pi)^{n/2}} \int_{\mathbb{R}^n} e^{i(\xi, x)} \widehat{\Psi_t^{\varepsilon}}(\xi) d\xi$$
$$= \frac{1}{(2\pi)^{n/2}} \int_{\mathbb{R}^n} e^{i(\xi, x)} e^{-\varepsilon c(\sqrt{s^4 - r^4})^k} \cos c(\sqrt{s^4 - r^4})^k t d\xi,$$

$$\begin{split} \mid \Psi_t^{\varepsilon}(x) \mid & \leq \frac{1}{(2\pi)^{n/2}} \int_{\mathbb{R}^n} e^{-\varepsilon c(\sqrt{s^4 - r^4})^k} d\xi \\ & = \frac{1}{(2\pi)^{n/2}} \int_0^{\infty} \int_0^s e^{-\varepsilon c(\sqrt{s^4 - r^4})^k} r^{p-1} s^{q-1} dr ds. \end{split}$$

Putting $r^2 = s^2 \sin \theta$, $2rdr = s^2 \cos \theta d\theta$ and $0 \le \theta \le \frac{\pi}{2}$, we obtain

$$\begin{split} \mid \Psi_t^{\varepsilon}(x) \mid & \leq \frac{\Omega_p \Omega_q}{2(2\pi)^{n/2}} \int_0^{\infty} \int_0^{\pi/2} e^{-\varepsilon c(s^2 \cos \theta)^k} (\sin \theta)^{\frac{p-2}{2}} s^{p+q-1} \cos \theta d\theta ds \\ & = \frac{\Omega_p \Omega_q}{2(2\pi)^{n/2}} \int_0^{\infty} \int_0^{\pi/2} e^{-\varepsilon c(s^2 \cos \theta)^k} s^{p+q-1} (\sin \theta)^{\frac{p-2}{2}} \cos \theta d\theta ds. \end{split}$$

Next, putting $y = \varepsilon c(s^2 \cos \theta)^k$, $ds = s \frac{dy}{2ky}$, we have

$$\begin{split} \mid \Psi_t^{\varepsilon}(x) \mid & \leq \frac{\Omega_p \Omega_q}{4k(2\pi)^{n/2}} \int_0^{\pi/2} \int_0^{\infty} \frac{e^{-y}}{y} \left(\frac{y}{c\varepsilon \cos^k \theta} \right)^{n/2k} (\sin \theta) \frac{p-2}{2} \cos \theta dy d\theta \\ & = \frac{\Omega_p \Omega_q}{4k(2\pi)^{n/2}} \int_0^{\pi/2} \int_0^{\infty} \frac{e^{-y}y^{n/2k-1}}{c^{n/2k} \varepsilon^{n/2k}} (\sin \theta) \frac{p-2}{2} (\cos \theta) \frac{2-n}{2} dy d\theta \\ & = \frac{\Omega_p \Omega_q}{4(2\pi)^{n/2} k c^{n/2k} \varepsilon^{n/2k}} \Gamma\left(\frac{n}{2k}\right) \int_0^{\pi/2} (\sin \theta) \frac{p-2}{2} (\cos \theta) \frac{2-n}{2} d\theta, \\ & \mid \Psi_t^{\varepsilon}(x) \mid \leq \frac{\Omega_p \Omega_q}{8(2\pi)^{n/2} k c^{n/2k} \varepsilon^{n/2k}} \frac{\Gamma\left(\frac{n}{2k}\right) \Gamma\left(\frac{p}{4}\right) \Gamma\left(\frac{4-n}{4}\right)}{\Gamma\left(\frac{4-n}{4}\right)}. \end{split}$$

Set

$$u^{\varepsilon}(x,t) = f(x) * \Psi_t^{\varepsilon}(x) + g(x) * \Phi_t^{\varepsilon}(x)$$
(3.7)

which is an ϵ -approximation of u(x, t) in (3.7) for $\epsilon \to 0$, $u^{\epsilon}(x, t) \to u(x, t)$ uniformly. Now

$$u^{\varepsilon}(x,t) = \int_{\mathbb{R}^n} f(r) \Psi_t^{\varepsilon}(x-r) dr + \int_{\mathbb{R}^n} g(r) \Phi_t^{\varepsilon}(x-r) dr.$$

Thus

$$\begin{split} \mid u^{\varepsilon}(x,\,t)\mid &\leq \mid \Psi^{\varepsilon}_{t}(x-r) \mid \int_{\mathbb{R}^{n}} \mid f(r) \mid dr + \mid \Phi^{\varepsilon}_{t}(x-r) \mid \int_{\mathbb{R}^{n}} \mid g(r) \mid dr \\ &\leq \frac{\Omega_{p}\Omega_{q}}{8(2\pi)^{n/2}kc^{n/2k}\varepsilon^{n/2k}} \frac{\Gamma\left(\frac{n}{2k}\right)\Gamma\left(\frac{p}{4}\right)\Gamma\left(\frac{4-n}{4}\right)}{\Gamma\left(\frac{4-q}{4}\right)} M \\ &+ \frac{\Omega_{p}\Omega_{q}}{8(2\pi)^{n/2}kc^{n/2k}\varepsilon^{n/2k-1}} \frac{\Gamma\left(\frac{n}{2k}-1\right)\Gamma\left(\frac{p}{4}\right)\Gamma\left(\frac{2-n}{4}\right)}{\Gamma\left(\frac{4-q}{4}\right)} N, \\ \varepsilon^{n/2k} \mid u^{\varepsilon}(x,\,t) \mid &\leq \frac{\Omega_{p}\Omega_{q}}{8(2\pi)^{n/2}kc^{n/2k}} \frac{\Gamma\left(\frac{n}{2k}\right)\Gamma\left(\frac{p}{4}\right)\Gamma\left(\frac{4-n}{4}\right)}{\Gamma\left(\frac{4-q}{4}\right)} M \\ &+ \frac{\Omega_{p}\Omega_{q}\varepsilon}{8(2\pi)^{n/2}kc^{n/2k}} \frac{\Gamma\left(\frac{n}{2k}-1\right)\Gamma\left(\frac{p}{4}\right)\Gamma\left(\frac{4-n}{4}\right)}{\Gamma\left(\frac{4-q}{4}\right)} N, \end{split}$$

where $M = \int_{\mathbb{R}^n} |f(r)| dr$ and $N = \int_{\mathbb{R}^n} |g(r)| dr$. Since f and g are absolutely integrable,

$$\lim_{\varepsilon \to 0} \varepsilon^{n/2k} | u^{\varepsilon}(x, t) | \le \frac{\Omega_p \Omega_q}{8(2\pi)^{n/2} k c^{n/2k}} \frac{\Gamma\left(\frac{n}{2k}\right) \Gamma\left(\frac{p}{4}\right) \Gamma\left(\frac{4-n}{4}\right)}{\Gamma\left(\frac{4-q}{4}\right)} = K.$$

It follows that $u(x, t) = O(\varepsilon^{-n/2k})$ for $n \neq k$ as $\varepsilon \to 0$.

In particular, if we put k = 2, n = 1 and p = 0, then (3.1) reduces to the solution of the beam equation, see [5, p. 47],

$$u(x, 0) = f(x)$$
 and $\frac{\partial}{\partial t}u(x, 0) = g(x)$,

where f and g are continuous and absolutely integrable for $x \in \mathbb{R}^n$.

Thus we obtain $u(x, t) = O(\varepsilon^{-1/4})$ which is a solution of such a biharmonic wave equation.

Acknowledgement

The author would like to thank The Thailand Research Fund and Graduate School, Chiang Mai University, Thailand for financial support.

References

- [1] G. B. Folland, Introduction to Partial Differential Equations, Princeton University Press, Princeton, New Jersey, 1995.
- [2] A. Kananthai, On the solutions of the *n*-dimensional diamond operator, Appl. Math. Comput. 88(1) (1997), 27-37.
- [3] A. Kananthai, On the Fourier transform of the diamond kernel of Marcel Riesz, Appl. Math. Comput. 101(2-3) (1999), 151-158.
- [4] A. Kananthai and K. Nonlaopon, On the generalized heat kernel, Computational Technologies 9(1) (2004), 3-10.
- [5] J. David Logan, An Introduction to Nonlinear Partial Differential Equations, A Wiley-Interscience Publication, John Wiley & Sons, Inc., New York, 1994.
- [6] W. Satsanit and A. Kananthai, On the ultra-hyperbolic wave operator, Int. J. Pure Appl. Math., reprint.
- [7] G. Sritantatana and A. Kananthai, On the generalized wave equation related to the beam equation, J. Math. Anal. Approx. Theory 1(1) (2006), 23-29.